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CASH FLOW STATEMENT

lllustration

1. From the following information, calculate

cash flow from operating activities using

direct method.
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Statement of Profit and Loss
for the year ended on March 31, 2017
Note

L Particulars

Figures for Current
reporting period

i) Revenue from operations
ii) Other Income
iii) Total revenue (i+ii)
iv) Expenses
Cost of materials consumed
Employees benefits expenses
Depreciation
Other expenses
Insurance Premium
Total expenses
v) Profit before tax (iii-iv)
Less Income tax
vi) Profit after tax

2,20,000

2,20,000

1.,20,000
30,000
20,000

8,000
1,78,000

Additional information:

[ Particulars April 01,2016 | March 31, 2017
Rs Rs\
Trade receivables 33,000 36,000
Trade payables 17,000 15,000
Inventory 22,000 27,000
Outstanding employees benefits 2,000 3,000
expenses
Prepaid insurance 5,000 5,500
Income tax outstanding 3,000 2,000

o View Text Solution

2. Using the data given in lllustration 1,

calculate cash flows from operating activities



https://dl.doubtnut.com/l/_HNPzjaRDgAz7
https://dl.doubtnut.com/l/_OzF8ATPD0OX3

using indirect method.

° View Text Solution

3. Calculate

cash flows

from operating

activities from the following information.

Statement of Profit and Loss for the year ended March 31, 2017

Note

Amount

L Particulars
No. Rs
i) Revenue from Operations 50,000
ii) Other Income 1
iii) Total Revenue (i+ii)
iv) Expenses
Cost of Materials Consumed
Employees Benefits Expenses
Depreciation and Amortisation 2
Expenses
3

Other Expenses

v) Profit before Tax (iii-iv)

Working Notes:
1. Other Income

(Rs 2,000 ) +

= Profit on

Sale of Machinery


https://dl.doubtnut.com/l/_OzF8ATPD0OX3
https://dl.doubtnut.com/l/_IMole7TmNDvO

Income Tax Refund (Rs 3,000)

= Rs 5,00

2. Depreciation and Amortisation Expenses =
Depreciation (Rs 5,000) + Goodwill Amortised
(Rs 2,000)

Other Expenses = Rent (Rs 10,000) + Loss on
Sale of Equipment (Rs 3,000) + Provision for
Taxation (Rs 8,000) Itbrge = Rs 21,000

Additional Information:

April 01, 2016 March 31, 2017

Rs Rs

Provision for Taxation 10,000 13,000
Rent Payable 2,000 2,500
Trade Payables 21,000 25,000
Trade Receivables 15,000 21,000
25,000 22 000

Inventories

o View Text Solution



https://dl.doubtnut.com/l/_IMole7TmNDvO

4, Charles Ltd., made a profit of Rs 1,00,000
after charging depreciation of Rs 20,000 on
assets and a transfer to general reserve of Rs
30,000. The goodwill amortised was Rs 7,000
and gain on sale of machinery was Rs 3,000.
Other information available to you ( changes
in the value of current assets and current
liabilities) are trade receivables showed an
increase of Rs 3,000, trade payables an
increase of Rs 6,000, prepaid expenses an

increase of Rs 200, and outstanding expenses


https://dl.doubtnut.com/l/_i0VBxUtBWNIj

a decrease of Rs 2,000. Ascertain cash flow

from operating activities.

° View Text Solution

5. Welprint Ltd. has given you the following

information:

Machinery as on April 01, 2016 5(‘.(11({;"

Machinery as on March 31, 2017 60,000

Accumulated Depreciation on April 01, 2016 25,000
15,000

Accumulated Depreciation on March 31, 2017
During the year, a Machine costing Rs 25,000 with Accumulated Depreciation of

Rs 15,000 was sold for Rs 13,000.

Calculate cash flow from Investing Activities on

the basis of the above information.

o View Text Solution



https://dl.doubtnut.com/l/_i0VBxUtBWNIj
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6. From the following information, calculate

cash flows from financing activities:

April 1, March 31,

2016 2017

(Rs) Rs)

Long-term Loans 2,00,000 2,50,000

During the year, the company repaid a loan of

Rs 1,00,000.

o Watch Video Solution

7. From the following information, prepare

Cash Flow Statement for Pioneer Ltd.


https://dl.doubtnut.com/l/_CjOBLSG8a8zv
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Particulars

Balance Sheet of Pioneer Ltd., as on March 31, 2017

1. Equity and Liabilities

Note
No.

31st March|31st Mar(‘h]

1. Shareholders’ Funds
a) Share capital
b) Reserve and surplus
2. Non-current Liabilities
Long-term borrowings: Bank Loan
3. Current Liabilities
a) Trade payables
b) Other current liabilities: outstanding rent
c) Short-term provisions
Total
II. Assets
1. Non-current assets
a) Fixed assets
(i) Tangible assets
(ii) Intangible assets
b) Non-current investments
Current assets
a) Inventories
b) Trade receivables
¢) Cash and cash equivalents
Total

1o

w

[

6

2017 (Rs) | 2016 [Rs)

7,00,000 5,00,000
3.50,000 2.00,000

50.000 1,00,000

45,000 50,000
7,000 5,000

1,20,000 80,000
12,72,000 | 9,35,000

5.00,000 5.00,000
95,000 1.00,000
1,00,000 -

1,30,000 | 50,000
1,20,000 | 80,000
3.27.000 | 205000

[12,72,000 | 9.35.000 |

E :

Notes to Accounts:

Particulars

1. Equity Share Capital

2. Reserve and Surplus i
Surplus: i.e.. Balance in Statement of
Profit and Loss

3. Short-term Provision:
Proposed Dividend
Provision for Taxation

4. Fixed Assets
— Tangible assets
— Equipments
— Furniture

5. Intangible Assets

Patents

Cash and cash equivalents
i) Cash

ii) Bank balance

31st March] ¢
2017 (Rs)

st March
2016 (Rs)

|
70,000

\
50,000 |

50,000 30,000 |
1,20,000| 80,000 |

1

2.30.000 | 2,00,000
2,70,000 3.00.000

5,00,000 | 5,00,000
95,000 \ 1,00,000 \

27,000 \ 5,000 \
3.00.000 | 2.00.000

3,27,000 | 2,05,000 |

° View Text Solution
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8. From the following Balance Sheets of Xerox

Ltd., prepare cash flow statement.

From the following

3alance Sheets of Nerox Ltd.. p

repare cash flow statement.

3% ~ b
Note | StstMarch 3Tst Mareh
T Bquity and Liabiiitics No DOLS RS 2016 (Ry)
1. Sharcholders’ Funds
) Share capital 15.00.000 | 10.00.000
Bl Reserve and surplus (Balance in 7.50.000 | 6,00.000
Statement of Profit and Loss)
2. Nen-current Liabilities
Long-term borrowings 1 1.00.000 |  2.00.000
3. Current Liabilities
a) Trade payvables 1.00.000| 1.10,000
b) Short-term provisions 95.000 80.000
(Provision for taxation)
Total 25,45,000 119.90,000 l
II. Assets
1. Non-current assets
a) Fixed assets
(i) Tangible assets 2 10.10,000 | 12,00,000
(ii) Intangible assets (Goodwill) 1.80,000| 2,00,000
b) Non-current investment 6,00,000 -
2. Current assets 1.80000! 1.00.000
B s 2‘00v000 1‘50‘000
b) Trade Receivables e 3‘ 40‘ 000
©) Cash and cash equivalents } IOl
Total ‘;’—’—L—'—'j\

I Particulars

\ 31st March| 31st March
2017 (Rs)| 2016 (Rs)

1.

Long-term borrowings:
i) Debentures
ii) Bank loan

Tangible Assets
i) Land and building
ii) Plant and machinery

Cash and cash equivalents
i) Cash in hand
ii) Bank balance

- 2,00,000

1,00,000 —
| 1.00,000{ 2,00,000 |

s.so,ooo\ 8,00,000 \

\ 3,60,000| 4.00.000

[10,10,000{12,00,000 |
70,000\ so.ooox
3,05,000| 2.90.000

[ 3,75.000| 3.40,000 |

| — i —

Additional information:

1. Dividend proposed and paid during the year


https://dl.doubtnut.com/l/_L0JhYBNziHBC

Rs 1,50,000.

2. Income tax paid during the year includes Rs
15,000 on account of dividend tax.

3. Land and building book value Rs 1,50,000
was sold at a profit of 10%.

4. The rate of depreciation on plant and

machinery is 10%.

o View Text Solution

9. From the following information of Oswal

Mills Ltd., prepare cash flow statement:


https://dl.doubtnut.com/l/_L0JhYBNziHBC
https://dl.doubtnut.com/l/_P1DpTSk0Ri7w

Balance Sheet of Oswal Mills
as on 31 March, 2016 and 2017

Particulars T w1 —Rupoes i Lakle)
Notc

SlstMarclh| 31wt Maach
I. Equity and Liabilitics N | 20U} 2016 10
1. Sharcholders’ Funds
a) Share capital | 1300 1100
b) Reserve and surplus (Surplus) 1.700 1.000
2. Current Liabilities
a) Short-term borrowings 200 GOO
b) Trade payables . H0 100
Total 6,700
II. Assets o i
1. Non-current assets
a) Fixed asscts 2 2100 2400
b) Non-current investments S00 200
2. Current assets
a) Inventories 1.200 1,300
b) Trade receivables K00 900
¢) Cash and cash equivalents 1200 8OO
d) Short-term loans and advances
Total

Notes to Accounts:

- (Rs in Lakhs)
l Farticulars 31st Marcj 31st March
2017 (Rs)| 2016 (Rs}\
1. Share capital
Equity share capital 1,000 1,000
10% preference share capital 300 400
1,300] 1,400 |
2. Fixed assets
Tangible assets 3,600 3,400
Less: Accumlated depreciation ’ (1,200) (1,000)
2,400| 2,4(%
Statement of Profit and Loss
for the year ended 31st March, 2017
(Rupees in Lakhs)
Particulars Note | 31stMarch -
) No. | 2017 (Rs)
1. Revenue from operation 2,800 -
II. Other income (dividend income) 1,000 -
1II. Total Revenue 3,800 -
IV. Expenses
Cost of material consumed -
Employees benefit expenses -

Finance cost (interest paid)
Depreciation
Loss due to earthquake

V. Profit before tax
VI. Tax paid
Profit after tax

Additional information:

1. No dividend paid by the company during the


https://dl.doubtnut.com/l/_P1DpTSk0Ri7w

current financial year.
2. Out of fixed assets, land worth Rs 1,000

Lakhs having no accumulated depreciation

was sold at no profit or no loss.

° View Text Solution

10. From the following information of Banjara

Ltd., prepare a cash flow statement:


https://dl.doubtnut.com/l/_P1DpTSk0Ri7w
https://dl.doubtnut.com/l/_hds3HMSbNnDQ

{Kupeces 11 LAaRIS)
31stMarch { March
2017 (Rs) 0

Particulars Note
No.

F. Equity and Liabilities
1. Shareholders’ Funds
a) Share capital
b) Reserve and surplus (surplus)
2. Non-current Liabilities
Long-term borrowings
(Long-term loan)
3. Current Liabilities
a) Trade payables
b) Other current liabilities
Total
II. Assets
1. Non-current assets
a) Fixed assets
b) Non-current investments
2. Current assets
a) Current investments (Marketable)
b) Inventories
¢) Trade Receivables
d) Cash and cash equivalents
e) Other current assets
(Interest receivables)

Total

Notes to Accounts:

1. Other Current Liabilities
i) Interest payable
ii) Income tax payable

2. Fixed Assets:
Tangible
Less: Accumlated depreciation

T (Rupees in Lakhs)
Note 2017
March 31
- Revenue from operation Mo &
II.  Other income "o
III. Total Revenue ' 550
IV. Expenses 2290
Cf)st of material consumed
Finance cost (interest expenses) e
Depreciation 450
Other expenses 510
(Admn. and selling e; 5 "
Total expenses ¢ xpenses
Profit before tax o
Profit bel 3.530
Profit after tax 3[:;0“%

Notes to Accounts:

[ rarticudars
1. Other Income during the year 201617
i) Interest Income
ii) Dividend Income
iii) Insurance Proceeds from earthquake disaster Settlement

Additional Information:


https://dl.doubtnut.com/l/_hds3HMSbNnDQ

(i) An amount of Rs 250 was raised from the
issue of share capital and a further

Rs 250 was raised from long-term borrowings.
(i) Interest expense was Rs 400 of which Rs
170 was paid during the period.

Rs 100 relating to interest expense of the prior
period was also paid during

the period.

(iii) Dividends paid were Rs 1,200.

(iv) Tax deducted at source on dividends
received (included in the tax expense

of Rs 300 for the year) amounted to Rs 40

l ° View Text Solution


https://dl.doubtnut.com/l/_hds3HMSbNnDQ

Test Your Understanding |

Test your Understanding - I

Classify the following activities into operating activities, investing activities,
financing activities, cash equivalents.

1.|Purchase of machinery. 2 |Proceeds [rom issuance of equity share
. capital.
3.[Cash revenue from operations. 4 [Proceeds from long-term borrowings.
5.[Proceeds from sale of old machinery. 6.[Cash receipt from trade receivables.
7 |Trading commission received. 8.|Purchase of non-current investment.
9.|Redemption of preference shares. 10.|Cash purchases
11.|Proceeds from sale of non-current 12.|Purchase of goodwill
investment.
13.[Cash paid to supplier. 14.|Interim dividend paid on equity shares.
15.|[Employee benefits expenses paid. 16.|Proceeds from sale of patents.
17.|[Interest received on debentures held 18.|Interest paid on long-term borrowings.
as investments.
19.[Oflice and administrative expenses 20.|Manufacturing overheads paid.
paid.
21.|Dividend received on shares held as | 22.|Rent received on property held as
investment. investment.

23.[Selling and distribution expenses paid. [ 24.|Income tax paid.
25.|Dividend paid on preferences shares. |26.|Under-writing commission paid.
27.|Rent paid. 28.|Brokerage paid on purchase of non-

29.|Bank overdraft. current investment.
30.[Cash credit. 31.|Short-term deposit.

32.|Marketable securities. 33.|Refund of income-tax received.

View Text Solution
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Test Your Understanding li

Particulars

2016 \ 2017 \

Machine at cost
Accumulated Depreciation

Equity Shares Capital

1 Bank Loan
L]

5.00.000 9.00,000

3.00,000 4.50,000
28,00.000 | 35.00.000
12,50,000 7.50,000

° View Text Solution

Short Answer Questions

1. What is a Cash flow statement?

o Watch Video Solution



https://dl.doubtnut.com/l/_qTzrVSFUHjOk
https://dl.doubtnut.com/l/_2qiDT2FCBDIO

2. How are the various activities classified (as
per AS-3 revised) while preparing cash flow

statement?

o Watch Video Solution

3. State the uses of cash flow statement.

o Watch Video Solution
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4. What are the objectives of preparing cash

flow statement?

o Watch Video Solution

5. State the meaning of the terms: (i) Cash

Equivalents, (ii) Cash flows

o Watch Video Solution



https://dl.doubtnut.com/l/_csXpMKQZieXS
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6. Prepare a format of cash flow from

operating activities under indirect method.

o Watch Video Solution

7. State clearly what would constitute the
operating activities for each of the following
enterprises:

(i) Hotel

(i) Film production house

(i) Financial enterprise


https://dl.doubtnut.com/l/_TGWnqZFDgwNz
https://dl.doubtnut.com/l/_WbhIL8AYq04Y

(iv) Media enterprise
(v) Steel manufacturing unit

(vi) Software development business unit.

o View Text Solution

8. “The nature/type of enterprise can change
altogether the category into which a
particular activity may be classified.” Do you

agree? lllustrate your answer.

° Watch Video Solution
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Long Answer Questions

1. Describe the procedure to prepare Cash

Flow Statement.

o View Text Solution

2. Describe “Indirect” method of ascertaining

Cash Flow from operating activities.

° View Text Solution



https://dl.doubtnut.com/l/_vjiJfVLeX5rF
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3. Explain the major Cash Inflows and outflows

from investing activities.

o View Text Solution

4. Explain the major Cash Inflows and outflows

from financing activities.

° View Text Solution

Numerical Questions


https://dl.doubtnut.com/l/_C3WbBsuSqPZ5
https://dl.doubtnut.com/l/_d4026vpYlVb5

1. Anand Ltd., arrived at a net income of Rs
5,00,000 for the year ended March 31, 2017.
Depreciation for the year was Rs 2,00,000.
There was a profit of Rs 50,000 on assets sold
which was transferred to Statement of Profit
and Loss account. Trade Receivables increased
during the year Rs 40,000 and Trade Payables
also increased by Rs 60,000. Compute the cash
flow from operating activities by the indirect

approach

o View Text Solution



https://dl.doubtnut.com/l/_iXhgOEwJJsKC

2. From the information given below you are

required to calculate the cash paid for the

inventory:

Particulars T " |
Inventory in the beginning 40,000

Credit Purchases 1,60,000
38,000

Inventory‘in the end
Trade payables in the beginning 14,000
Trade payables in the end 14,500

o View Text Solution

3. For each of the following transactions,

calculate the resulting cash flow and state the

nature of cash flow, viz,, operating, investing


https://dl.doubtnut.com/l/_0T40PUDdRYQ3
https://dl.doubtnut.com/l/_UVNScmrIIDGe

and financing.

(@) Acquired machinery for Rs 2,50,000 paying
20% by cheque and

executing a bond for the balance payable.

(b) Paid Rs 2,50,000 to acquire shares in
Informa Tech. and received a dividend

of Rs 50,000 after acquisition.

(c) Sold machinery of original cost Rs 2,00,000
with an accumulated

depreciation of Rs 1,60,000 for Rs 60,000.

o View Text Solution
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4.The following is the Profit and Loss Account

of Yamuna Limited:

Statement of Profit and Loss of Yamuna Ltd.,
for the Year ended March 31, 2017
Particulars Note Amount
No (Rs)

i) Revenue from Operations

10,00 000
ii) Expenses
Cost of Materials Consumed 1

Purchases of Stock-in-trade

50.000
5,00,000
3.00,000
8,50,000
iii) Profit before tax (i-ii) \ \ 1.50.000 1

Other Expenses 2

Total Expenses

Additional information:

(i) Trade receivables decrease by Rs 30,000

during the year.

(i) Prepaid expenses increase by Rs 5,000

during the year.

(iii) Trade payables increase by Rs 15,000

during the year.


https://dl.doubtnut.com/l/_BiqrTfHdIC6i

(iv) Outstanding expenses payable increased
by Rs 3,000 during the year.

(v) Other expenses included depreciation of Rs
25,000.

Compute net cash from operations for the
year ended March 31, 2017 by the indirect

method.

o View Text Solution

5. Compute cash from operations from the

following figures:


https://dl.doubtnut.com/l/_BiqrTfHdIC6i
https://dl.doubtnut.com/l/_tj0ip4sBODBl

(i) Profit for the year 2016-17 is a sum of Rs

10,000 after providing for

depreciation of Rs 2,000.

(ii) The current assets and current liabilities of

the business for the year

ended March 31, 2016 and 2015 are as follows:

March
31.2016

Particulars

(Rs)

Trade Receivables
Provision for Doubtful Debts
Trade Payables

14,000

1,000

13,000
Inventories 5,000
Other Current Assets 10,000
Expenses payable 1,000

Prepaid Expenses
Accrued Income
Income received in advance

2,000
3,000
2,000

o View Text Solution
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6. From the following particulars of Bharat Gas

Limited, calculate Cash Flows from Investing

Activities. Also show the workings clearly

preparing the ledger accounts

Particulars Note | Figures as | Figures as al ‘
No. the end of the end of
2017 (Rs) reporting
2016 (Rs)
II) Assets
1. Non-current Assets \
a) Fixed assets
i) Tangible assets 1 12,40.000 10,20,000
ii) Intangible assets 2 4,60,000 3,80,000
b) Non-current investments 3 3.60,000 2.,60,000
Notes: 1 Tangible assets = Machinery
2 Intangible assets = Patents
Notes to accounts: )
Figures of Figures of
current year YJF("\'\OUS ')'C'c\\’
1. Tangible Assets
) 0,000 10,20,000
Machinery _lii; —_—
2. Intangible Assets 3.00.000 1.00.000
Goodwill 1.60.000 2.80.000
Patents ~4.60,000 3,80,000
2000 B —
Non-current Investments
10% long term investments 1,60,000 60,000
Investment in land 1,00,000 1,00,000
Shares of Amartex Ltd. 1,00,000 1,00,000

3,60,000 _2,60,000_

(a) Patents were written-off to the extent of Rs

40,000 and some Patents


https://dl.doubtnut.com/l/_KvRwTUW8IzcX

were sold at a profit of Rs 20,000.

(b) A Machine costing Rs 140,000
(Depreciation provided thereon

Rs 60,000) was sold for Rs 50,000.
Depreciation charged during the year

was Rs 1,40,000.

(c) On March 31, 2016, 10% Investments were
purchased for Rs 1,80,000

and some Investments were sold at a profit of
Rs 20,000. Interest on

Investment was received on March 31, 2017.

(d) Amartax Ltd., paid Dividend @ 10% on its

shares.


https://dl.doubtnut.com/l/_KvRwTUW8IzcX

(e) A plot of Land had been purchased
for investment purposes and let out for

commercial use and rent received Rs 30,000.

° View Text Solution

7. From the following Balance Sheet of Mohan

Ltd., prepare cash flow Statement:

Particulars \ Note\ March 31, \ Marchﬁ\
D Equityand Tiabilitics No. 2017 (Rs) 2016 (Rs)
1. Shareholders’ Funds
z]) gg:;rtzezh:ég capital 3,00,000 2.00.000
surplus 2,00,000 1.60,000
2. Non-current liabilities
a) Long-term borrowings 1 80.000 1.00,000
3. Current liabilities
Trade payables 1,20,000 1.40,000
Short-term provisions 2 70.000 60.000
Total . 7,70,000 6,60,000
II) Assets
1. Non-current assets
Fixed assets 3 5.00,000 3,20,000
2. Current assets
a) Inventories 1,50,000 1,30,000
b) Trade receivables 4 90,000 1,20,000
c) Cash and cash equivalents 5 30,000 90,000

Total 7,70,000 6,60,000



https://dl.doubtnut.com/l/_KvRwTUW8IzcX
https://dl.doubtnut.com/l/_i8KoX75JXo9g

Long-term borrowings o e
Bank Loan \
Short-term provision

80,000 1,00,000
Proposed dividend 70.000 60.000
3. Fixed assets 76.00.000 4.00.000
Less: Accumulated Depreciation 1.00.000 80.000
(Net) Fixed Assets 5,00,000 3,20,000
4. Trade receivables
Debtors 60.000 1.00.000
Bills receivables 30.000 20.000
90,000 1,20,000
ach - P ~quivalents
5: Casrl; ‘"Qd cash equiva 30,000 90,000
an .

Additional Information:

Machine Costing Rs 80,000 on which

accumulated depreciation was

Rs, 50,000 was sold for Rs 20,000

o View Text Solution

8. From the following Balance Sheets of Tiger

Super Steel Ltd., prepare Cash Flow Statement:


https://dl.doubtnut.com/l/_i8KoX75JXo9g
https://dl.doubtnut.com/l/_ar0ZjR0CEfMc

1.

Particulars Note | March 31. March 31
No. 2017 (Rs) 2016 (Rs)
I) Equity and Liabilities
1. Shareholders’ Funds
a) Share capital 1 1,40.000 1.20.000
b) Reserves and surplus 2 22,800 15,200
2. Current Liabilities
a) Trade payables 3 21.200 14,000
b) Other current liabilities 4 2.400 3.200
c) Short-term provisions 5 28.400 22.400
2,14,800 1,74,800
1I) Assets ]
1. Non-Current Assets
a) Fixed assets
i) Tangible assets 6 96.400 76,000
ii) Intangible assets 18.800 24.000
b) Non-current investments 14.000 4.000
2. Current Assets
a) Inventories 31.200 34,000
b) Trade receivables 43.200 30,000
¢) Cash and Cash Equivalents 11.200 6.800
[ 2,14,800 | 1,74,800]|
I T |
Notes to accounts:
Sh;;_:“' Capital 2017 2016
lg;:tgrshare capital
eference share capital 1.20.000 80.000
20,000 40.000
2. Rcs(t:ers and surplus 1,40.000 1,20,000
seneral reserve ‘
Balance in statement of 112)):((1(()) F;(;_(())(()
. 200
profit and loss
22,800 15,200
3. Trade payables :
Bills payable 21.200 14,000
4. Other current liabilities — —
Outstanding expenses 2,400 3,200
5. Short-term provisions - -
Provision for taxation 13.300 1111‘22.(())(())
. ivide 15,600 .
Proposed dividend 26.300 32,400
6. Tangible assets dine 20.000 40.000
Land and building 76.400 36.000
Plant

Additional Information:

Depreciation Charge on

_96,400

Land

76,000

& Building Rs


https://dl.doubtnut.com/l/_ar0ZjR0CEfMc

20,000, and Plant Rs 10,000

during the year.

° View Text Solution

9. From the following information, prepare

cash flow statement:

Particulars

| T
T | -
1. Equity and Liabilities I S
1. Shareholders Funds
al Share capital | | 7.00 'xQO"‘
b} Reserve and surplus | | 470 OOU\
2. Non-current Liabilities i \ \
(8%c Debentures) \l‘ | 100 ‘f"’)@\. 6.00.000 |
3. Current Liabilities \ l\. \ \
Trade pavables \ | 900 000\ 6.00.000 |
Total \ 124,70,000! 19,50.000 |
II. Assets
1

Non current assets
Fixed assets
i) Tangible

5;00.000\

p
ii) Intangible-Goodwill 250-300\
2 Current assets
) £ 000
a) Inventories 6.00.000 5.00.000

b) Trade Receivables
¢) Cash and cash equivalents
Total

6 00.600
1.00.000



https://dl.doubtnut.com/l/_ar0ZjR0CEfMc
https://dl.doubtnut.com/l/_0dm1FAZIr0ZK

Additional Information:

Depreciation Charge on Plant amount to Rs

80,000.

° View Text Solution

10. From the following Balance Sheet of Yogeta

Ltd., prepare cash flow statement:

Particulars

\ ch\ 31st Man-h\ 31st March

No. 2017 (Rs) 2016 (Rs)
I. Equity and Liabilities
1. Sharcholders’ Funds
a) Share capital 1 4,00,000 2.00,000
b) Reserve and surplus (Surplus) 2.00.000 1.00.000
2. Non-current Liabilities
Long-term borrowings 2 1.50,000 2.20,000
3. Current Liabilities
a) Short-term borrowings 1,00.000
(Bank overdraft)
b) Trade payables 70.000 50,000
¢) Short-term provision 50,000 30,000
(Provision for taxation)
Total 9,70,000
II. Assets

1. Non-current assets
Fixed assets
Tangible 7.00.000
2. Current assets
a) Inventories
b) Trade Receivables
¢) Cash and cash equivalents

Total

1.70,000
1.00,000



https://dl.doubtnut.com/l/_0dm1FAZIr0ZK
https://dl.doubtnut.com/l/_fZyftEbVSNb5

Notes to Accounts:
Particulars

31st March 31st March
1. Share capital 2017 (Rs) 2016 (Rs)
a) Equity share capital 3,00,000 2.00.000
b) Preference share capital 1,00,000 _
4,00,000 2,00,000
2. Long-term borrowings
Long-term loan - 2.00,000
Loan from Rahul 1,50,000 20,000
1,50,000 2,20,000

Additional Information:

Net Profit for the year after charging Rs
50,000 as Depreciation was

Rs 1,50,000. Dividend paid on Share was Rs
50,000, Tax Provision created

during the year amounted to Rs 60,000.

o View Text Solution



https://dl.doubtnut.com/l/_fZyftEbVSNb5

1. Following is the Financial Statement of

Garima Ltd., prepare cash flow statement:

Particulars Note | 31st March| 31st March
, No. Zi)l7lf€s/l 2()16[[?'»/}
I. Equity and Liabilities
1. Shareholders’ Funds
a) Share capital 1 4,40.000 2.80,000
b) Reserve and surplus (Surplus) 2 40,000 28,000
2. Current Liabilities
a) Trade payables 1.56.000 56,000
b) Short-term provisions 12,000 4,000
(Provision for taxation)
Total 6,48,000 3,68,000
1I. Assets
1. Non-current assets
Fixed assets
Tangible 3.64,000 2.00,000
2. Current assets
a) Inventorices 1.60.000 60,000
b) Trade receivables 80.000
¢) Cash and cash equivalents 28,000
d) Other current assets 16.000

Total

Notes o Accounts:

Particulars

31st March 31st March
I Share capital 2017 (Rs) 2016 (Rs)
a) Equity are cani
h; I’;l(}ll'z-ll“\v;(l:-l::{11;(11‘2“}'(]1' : 500000 >00.000
capital 1,40.000 80.000
’ 4,40,000 2,80,000
2. Reserve and surplus
Surplus in statement of profit and loss 28.000
at the beginning of the year
Add: Profit of the year 16,000
Less: Dividend 4.000
Profit at the end of the year 40,000

Additional Information:

1. Interest paid on Debenture Rs 600


https://dl.doubtnut.com/l/_nnnTfG5Yf7IV

2. Dividend paid during the year Rs 4,000
3. Depreciation charged during the year Rs

32,000

° View Text Solution

12. From the following Balance Sheet of
Computer India Ltd., prepare cash flow

statement.


https://dl.doubtnut.com/l/_nnnTfG5Yf7IV
https://dl.doubtnut.com/l/_h5RCtsawEZlU

Particulars

Total

Note | 31st March | 31st March
No. 2017 (Rs) 2016 (Rs)
I. Equity and Liabilities
1. Shareholders’ Funds
a) Share capital 50.000 40,000
b) Reserve and surplus-Surplus 1 3,700 3.000
2. Non-Current Liabilities
10% Debentures 6.500 6,000
3. Current liabilities
a) Short-term borrowings 2 6.800 12.500
b) Trade payables 11.000 12,000
¢) Short-term provisions 3 10.000 8.000
Total 88,000 81,500
1I. Assets
1. Non-current assets
a) Fixed assets ) 4 25.000 30,000
2. Current assets )
a) Inventories 35,000 30,000
b) Trade receivables 24.000 20,000
c) Cash and cash equivalents-cash 3.500 1,200
d) Other current assets-prepaid exp. 500 300

88,000 81,500 ‘

Notes to Accounts:
Particulars

1. Reserve and surplus
i) Balance in statement of profj
o - tand loss
ii) General reserve g 1 loss
2. Short-term borrowings
Bank overdraft
3. Short-term provisions
i) Provision for taxation
ii) Proposed dividend

4. Fixed Assets:

Fixed Assets
Less Accumulated Depreciation

Additional Information:

31st March 31st March
2017 (Rs) 2016 (Rs)
1.200 1,000
2,500 2.000
3,700 _3.000
6,800 12,500
4,200 3,000
5.800 5.000
10,000 8,000
40,000 41,000
(15,000) (11.000)

25,000 30,000

Interest paid on Debenture Rs 600

° View Text Solution



https://dl.doubtnut.com/l/_h5RCtsawEZlU




